
STD-v Tesi Peert)-2 
Solve. 

O 352- gs6 t 13f 

SO 99-T8L t1 344 

&6 
41 3 

Selufton cs I13 
Evtde o57 by 25 

57H822 
a5 

J rresyutrree 9uoftert Cie 22 ao 

TLemacnae 

1xt 
y 

97345 

1 u 

Prs e rreset rtee Sun t 



3X3 232 

3 

Ary. The reawirted diferancad 

Redoce 35 tohe Locegf term 

355 
75 755 IS 

i A The fieqwirLeo oesp terrm ts 

6Find oll 4he fac foreg 36 

By meuApLi cafton cue laue 

3-L36 

18 

So ThRrLeaineo 
kfonnjo b 36 @ns 1, 2,3, 

C1, C,9,12 18 ae 3h 

Ar B.U e TLeiTee 
fatons aß 36ane 

l129 Y, 6,,11, 18 A 36 



oLve -ese torc prtoblern Cos 06 a/tCket 2 137 
o 18-ckefs 1317x 18 

24222 

cost 

13 19 
12 

T1O3 
139 0 

Pn sbk Aad it Po 2DM822 4or 
18 +CkUs 

48-2 

Pmourt Ob mon e Je'uen fo Chunu 2166 
PaLo) Ob money SPerk by Cnu 2 

160 

o mone SPeat by Chintu a lCo 

a0 x3 Lo 
An Chutu SPenk o 

3 Namben or ortanaetrieej 005 Alumber 6 MnrRo reeg 6q9 T0-4a umben at truRLS 5005 +2q4 

Ar ang7foytue) tnall. 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

